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And lastly, 120 milli seconds (my computer couldn't allow anything longer without problems)...
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Since resistance merely governs voltage drop, any impedance of high resistance will foster our habitual
tendency to solve a problem by increasing the voltage. This is known as the Ferranti Effect. On the other
hand, a purely reactant impedance can, actually, overcome resistance and begin to exhibit characteristics
analogous to superconductivity if the frequency of reactance is high enough to overcome resistance per unit
time. Raising the frequency of a sine wave generator does not “cost” more energy. Nor does it defy physics’
conservation of energy. Yet, in this case, amplification of current occurs while voltage retains a zero status
within the body of each inductor.

It is not the conservation of energy which is being defied, here. Instead, it is Michael Faraday’s Law of
Induction which is given a restraint, a limitation, of jurisdiction. For, it is not always necessary to move a coil
through a magnetic field in order to manifest current inside of that coil. Purely reactive impedance, devoid of

resistive impedance, is a satisfactory replacement.

Frequency over time is equivalent to motion through space. Magnetic flux, or it’s analog, is rotating in both

examples.

The amplitude of a voltage source is not the only option available for supplying an energy input. The
frequency of a low voltage source is another, because frequency is a potential form of energy. This is why the
conservation of energy has not been defied, because conservation includes both kinetic and potential forms of
energy. And Michael Faraday’s Law of Induction has simply been expanded to include a more pervasive
definition.

homework-and-exercises = solid-state-physics = temperature = superconductivity = low-temperature-physics

Share Cite Improve this question Follow  edited Jan 6 at 17:34 asked Jan 5 at 16:19

Vinyasi
1e6

Comments are not for extended discussion; this conversation has been moved to chat. — Buzz ¢ Jan 6 at 3:37

1 Answer Sorted by: | Highest score (default) s
There are high temperature superconductors but under extreme pressures A superconducting state was
achieved at 7' = 25 C with an alloy.
2
Share Cite Improve this answer Follow edited Jan 6 at 3:38 answered Jan 5 at 17:16
. Buzz ¢ O jun Seo-He
13.2k © 14 ©36 ®52 Sody 1
1  "A superconducting state was achieved at T=25C with an alloy." A reference would be helpful. — my2cts Jan 6 at
11:49
Superconductivity at temperature 15 C and pressure 267 GPa, in Nature, 2020. — rob ¢ Jan 6 at 20:53
Not the answer you're looking for? Browse other questions tagged homework-and-exercises
solid-state-physics  temperature  superconductivity = low-temperature-physics  OrF ask your own question.
PHYSICS COMPANY STACK EXCHANGE NETWORK Blog Facebook Twitter LinkedIn Instagram
Tour Stack Overflow Technology
Help Teams Culture & recreation
Chat Advertising Life & arts
Contact Collectives Science
Feedback Talent Professional
About Business
Press
API
Legal
Data

Privacy Policy
Terms of Service
Cookie Settings

Cookie Policy CC BY-SA


https://physics.stackexchange.com/
https://physics.stackexchange.com/
https://physics.stackexchange.com/tour
https://physics.stackexchange.com/help
https://chat.stackexchange.com/?tab=site&host=physics.stackexchange.com
https://physics.stackexchange.com/contact
https://physics.meta.stackexchange.com/
https://stackoverflow.co/
https://stackoverflow.com/
https://stackoverflow.co/teams
https://stackoverflow.co/advertising
https://stackoverflow.co/collectives
https://stackoverflow.co/talent
https://stackoverflow.co/
https://stackoverflow.co/company/press
https://stackoverflow.com/legal
https://stackoverflow.com/legal/privacy-policy
https://stackoverflow.com/legal/terms-of-service
https://stackoverflow.com/legal/cookie-policy
https://stackexchange.com/
https://stackexchange.com/sites#technology
https://stackexchange.com/sites#culturerecreation
https://stackexchange.com/sites#lifearts
https://stackexchange.com/sites#science
https://stackexchange.com/sites#professional
https://stackexchange.com/sites#business
https://api.stackexchange.com/
https://data.stackexchange.com/
https://stackoverflow.blog/?blb=1
https://www.facebook.com/officialstackoverflow/
https://twitter.com/stackoverflow
https://linkedin.com/company/stack-overflow
https://www.instagram.com/thestackoverflow
https://stackoverflow.com/help/licensing
https://physics.stackexchange.com/users/signup?ssrc=hero&returnurl=https%3a%2f%2fphysics.stackexchange.com%2fquestions%2f687084%2fis-superconductance-restricted-to-an-extremely-low-temperature-or-can-it-be-eff
https://physics.stackexchange.com/help/closed-questions
https://physics.stackexchange.com/posts/687084/edit
https://ufile.io/ybwqggmj
https://physics.stackexchange.com/q/687084
https://physics.stackexchange.com/posts/687084/edit
https://physics.stackexchange.com/posts/687084/revisions
https://physics.stackexchange.com/users/160958/vinyasi
https://physics.stackexchange.com/users/160958/vinyasi
https://chat.stackexchange.com/rooms/132925/discussion-on-question-by-vinyasi-is-superconductance-restricted-to-an-extremely
https://physics.stackexchange.com/users/70245/buzz
https://physics.stackexchange.com/a/687090
https://physics.stackexchange.com/posts/687090/edit
https://physics.stackexchange.com/users/70245/buzz
https://physics.stackexchange.com/users/70245/buzz
https://physics.stackexchange.com/posts/687090/revisions
https://physics.stackexchange.com/users/298325/jun-seo-he
https://physics.stackexchange.com/users/298325/jun-seo-he
https://physics.stackexchange.com/users/186017/my2cts
https://doi.org/10.1038%2Fs41586-020-2801-z
https://physics.stackexchange.com/users/44126/rob
https://physics.stackexchange.com/questions/ask
https://physics.stackexchange.com/questions/tagged/homework-and-exercises
https://physics.stackexchange.com/questions/tagged/solid-state-physics
https://physics.stackexchange.com/questions/tagged/temperature
https://physics.stackexchange.com/questions/tagged/superconductivity
https://physics.stackexchange.com/questions/tagged/low-temperature-physics
https://physics.stackexchange.com/q/9352?rq=1
https://physics.stackexchange.com/questions/9352/what-effect-would-liquid-air-have-on-a-resonant-coil?rq=1
https://physics.stackexchange.com/q/55112?rq=1
https://physics.stackexchange.com/questions/55112/can-low-temperature-plasma-exist?rq=1
https://physics.stackexchange.com/q/56684?rq=1
https://physics.stackexchange.com/questions/56684/am-i-properly-identifying-the-resistor-terminal-voltage?rq=1
https://physics.stackexchange.com/q/432916?rq=1
https://physics.stackexchange.com/questions/432916/coupling-mechanical-to-electrical-energy-in-the-domain-of-electric-guitars?rq=1
https://physics.stackexchange.com/q/550672?rq=1
https://physics.stackexchange.com/questions/550672/can-we-use-quantities-other-than-temperature-to-describe-thermal-equilibrium?rq=1
https://stackexchange.com/questions?tab=hot
https://diy.stackexchange.com/questions/262111/can-a-gfci-have-no-ground
https://tex.stackexchange.com/questions/667789/what-is-this-symbol-in-latex-and-where-do-i-get-it
https://ham.stackexchange.com/questions/21524/how-is-ft8-modulated-with-both-upper-side-band-and-fsk
https://unix.stackexchange.com/questions/727878/debian-ubuntu-is-there-a-man-page-listing-all-the-version-codenames-numbers
https://codereview.stackexchange.com/questions/281805/simple-n-puzzle-console-game
https://scifi.stackexchange.com/questions/270124/1980s-short-story-disease-of-self-absorption
https://french.stackexchange.com/questions/51858/convey-different-meanings-of-badly-keeping-the-wordplay
https://diy.stackexchange.com/questions/262154/what-is-the-bulge-on-the-back-of-my-smeg-refrigerator
https://politics.stackexchange.com/questions/77025/does-any-country-consider-housing-and-food-a-right
https://networkengineering.stackexchange.com/questions/80807/why-can-i-send-127-0-0-1-to-127-0-0-0-on-my-network
https://puzzling.stackexchange.com/questions/118971/pse-advent-calendar-2022-day-9-international-christmas-crossword
https://academia.stackexchange.com/questions/191344/why-do-american-universities-cost-so-much
https://latin.stackexchange.com/questions/19202/friends-romans-countrymen-a-translation-problem-from-shakespeares-juli
https://gaming.stackexchange.com/questions/400608/what-happens-if-you-score-more-than-99-points-in-volleyball
https://workplace.stackexchange.com/questions/188972/received-a-behavior-reminder-from-manager-not-sure-if-it-was-just-me-or-somet
https://codereview.stackexchange.com/questions/281829/composite-pattern-for-putting-on-clothes
https://blender.stackexchange.com/questions/281145/why-does-my-working-add-on-stop-working-each-time-i-reopen-blender
https://stats.stackexchange.com/questions/598567/why-there-is-high-variance-of-gradients-estimated-in-the-short-directions-in-reg
https://or.stackexchange.com/questions/9529/existence-of-extreme-points-in-primal-and-dual-lp
https://history.stackexchange.com/questions/70473/how-did-muzzle-loaded-rifled-artillery-solve-the-problems-of-the-hand-held-rifle
https://ell.stackexchange.com/questions/328874/what-i-think-the-purpose-of-the-life-is-is-to-live-happily-with-our-loved-ones
https://electronics.stackexchange.com/questions/645741/what-do-the-poles-and-zeros-of-a-system-physically-represent
https://academia.stackexchange.com/questions/191365/should-i-give-a-brutally-honest-feedback-on-course-evaluations
https://ell.stackexchange.com/questions/328711/is-there-a-word-to-describe-someone-who-is-greedy-in-a-non-economical-way
https://physics.stackexchange.com/questions/687084/is-superconductance-restricted-to-an-extremely-low-temperature-or-can-it-be-eff
https://physics.stackexchange.com/questions/687084/is-superconductance-restricted-to-an-extremely-low-temperature-or-can-it-be-eff?lastactivity
https://physics.stackexchange.com/questions/ask
https://physics.stackexchange.com/posts/687084/timeline
https://physics.stackexchange.com/posts/687084/edit
https://physics.stackexchange.com/questions/tagged/homework-and-exercises
https://physics.stackexchange.com/questions/tagged/solid-state-physics
https://physics.stackexchange.com/questions/tagged/temperature
https://physics.stackexchange.com/questions/tagged/superconductivity
https://physics.stackexchange.com/questions/tagged/low-temperature-physics
https://physics.stackexchange.com/posts/687090/timeline
https://meta.stackexchange.com/questions/384169/help-us-identify-new-roles-for-community-members?cb=1
https://meta.stackexchange.com/questions/384406/navigation-and-ui-research-starting-soon?cb=1
https://physics.stackexchange.com/help
https://stackexchange.com/
https://physics.stackexchange.com/users/login?ssrc=head&returnurl=https%3a%2f%2fphysics.stackexchange.com%2fquestions%2f687084%2fis-superconductance-restricted-to-an-extremely-low-temperature-or-can-it-be-eff
https://physics.stackexchange.com/users/signup?ssrc=head&returnurl=https%3a%2f%2fphysics.stackexchange.com%2fquestions%2f687084%2fis-superconductance-restricted-to-an-extremely-low-temperature-or-can-it-be-eff

